Simplify.

1. $\frac{8 x^{3}-1}{x^{2}-1} \cdot \frac{x^{2}+4 x+3}{2 x^{2}+5 x-3}$

$$
\begin{array}{r}
\frac{(2 x-1)\left(4 x^{2}+2 x+1\right)}{(x+1)(x-1)} \cdot \frac{(x+3)(x+1)}{(2 x-1)(x+3)} \\
=\frac{4 x^{2}+2 x+1}{x-1} ; x \neq \pm 1,-3, \frac{1}{2}
\end{array}
$$

2. $\frac{2 x^{2}-2}{x^{2}+x-2}-\frac{x-1}{x+2}\left(\frac{x+3}{x+2}, x \neq 1,-2\right.$

3. Explain the transformation from $f(x)$ to $g(x)$.
$f(x)=x^{2} \quad g(x)=-\frac{2}{3}(x+5)^{2}$
Reflection across the $x$-axis, vertical
compression by a factor of $2 / 3$, horizontal translation 5 units to the right
4. Solve $\frac{x}{x-6}=\frac{1}{x-4}$

$$
x(x-4)=1(x-6)
$$

$$
x^{2}-4 x=x-6
$$

$$
x^{2}-5 x+6=0
$$

$$
\begin{gathered}
(x-2)(x-3)=0 \\
x=2 \text { or } x=3
\end{gathered}
$$

